Manual Instruction

VESA 200x200/200x400mm
@ 40kg/88lbs

245mm
<

M6x55 M8x25 M6x30

o\ |olo e T

M5x30

M4x30

| ®| @ s | @

@8

x
~
Q
min50mm-m: 7

?10x45 M8x40 M6x12

8 Y o0 e P

M5x12

M4x12

= 0
1y Q I
= = |le| -10°
=) H
a
5° 5
20mm

1

3-Flat Back TV with M4/
M5 Machine Screws

L _—
I

.-r-\ H.J

3-Curved Back TV with
M4/M5 Machine Screws

1\ G,

L'J ]

|
—

3-Recessed Back TV with
M4/M5 Machine Screws

T\ Gl
-i_\L
L

N

3-Flat Back TV witl

h M6/

M8 Machine Screws

T\C,F

3-Curved Back TV with
M6/M8 Machine Screws

I\ D.E
!

K

3-Recessed Back TV with
M6/M8 Machine Screws

._r_\ D,E

E\K
|_;_|

e

Tighten Safety Bolts




	Ò³Ãæ  1

